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& iara] : 3.00 wanfl Cupo | [ @uorgs 0 G emser : 70
Time Allowed : 3.00 Hours ] -« [Maximum Marks : 70

Sblejemrast : (1) smaibg amésErnd slural ubound wdrersr erarugenen

sflurTsgé Qsratereyld. SF&LILHND @eapudmuler, enmés
samsrafiuumariiLb o arquirss Qsfeilssa)b.

2) Beow Saeg smUY oulea LLEGCD TW&HMSHELD
21y EGaTy Haign@n Lweru@ss Geuar@b. ULILEET auesTeausnE
Quendled LweTUBSSeLd.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@iy : Czeanurer L idler LD cusmrhgy, soaUT(Emer Er(lps6uLD.

Note :

GoiuyY :

Note :

Draw diagrams and write equations wherever necessary.

uEs - I/ PART - 1

1) Semersg elamssEpsEL cllaLweflEsewb. 15x1=15

@@ Qsr@asLul@erer wrHm deaLsald Hseyb gHyew
dllen_enid GCoihEsGsHs GG e wameanyb Criss
Gr(LP&HeyD.

(i)  Answer all the quesHons.

(i) Choose the most appropriate answer from the given four alternatives and:
write the option code and the corresponding answer.
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QuTSSIS :

(1) yemler )  Howerer 2 Cars Swallsamer sarHlsd

(2) Cumryréen (i) eualenn W& salgCardn &yeufl

3) siguilailwb (i) sTOCsrmanse erfl s &b 6l
SmenrLL (heug)

(4) &eoum iv) <gls ereiled sTarTULED Sl
(1) ()-(i), (2)-(i), B)-Gv), 4)-@)
(<) (1)-(3), (2)-6), (3)-(iv), (4)-(ii)
(&) ()-Gv), (2)-(iid), 3)-(ii). (4)-(0)

) (1)-(i), (2)-(v), (3)-(), (4)-(iid)
Match the following :

(1) Fluorine (i) Identification of coloured metal ions
(2) Borax (i) Strong oxidising agent

(3)  Aluminium (iii) Chalgogens Present in volcanic ashes
(4) Sulphur (iv) Most abundant element

@) (D)), 2)-@), 3)-(v), (4)-0)
(b)  (1)-(), (2)-(0), (3)-(iv), (4)-(iii)
(€ (M-(v), (2)-(iid), (3)-(ii), (4)-()
(d)  (1)-(), -(v), (3)-(i), (4)-(iii)

2 @wurewl. grgme Geuarafiusasdeld Qmbg UNSE0s0&EG0L e :
(=) Barampgl Gfluy apenp () 2OEEED

(@) smoflevers Guald aupgsd (FF) umsse

Wolframite ore is separated from tinstone by the process of :

(a) Electromagnetic separation (b) Smelting
(c) Calcination (d) Roasting

+3 gsalgCamn Hammw @D darar@der QoL flaans saflob -
(<=1) Ni (<) Mn (@) Cr (FF) Sc
The transition element which has only +3 oxidation state is :

(@) Ni (b) Mn © Cr (d) sc
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LD (1 [ &) & &t 6 STLOTeg| <2/ 6 fi) fl Gt e DI LU0 U9 6

SeraflLiu@ g

(<=4) wpselfCumev (<) Cared®) eretr

(@) WwmHETES 6rewm () @wblena wrhled
The medicinal value of a drug is measured in terms of its :

(a) Deoxyribose (b) Gold number

(c) Therapeutic index (d) Equilibrium constant

Gemguibd SurtGul, siefldaflun GGearreny® wHmd QUL rflwibd Fwemar®
dweupdler Brsmrsaser wpapGu :

(<=1) =bled, 2flew, e (<21,) Sibleotd, 2ileLd, STTLD

(@) smrb, Siflew, sTFD () smyw, pHHme, ST

The aqueous solutions of sodium formate, anilinium chloride and potassium cyanide
are respectively :

(a) acidic, acidic, acidic (b) acidic, acidic, basic

(c) basic, acidic, basic (d) Dbasic, neutral, basic

DNA -afleir (5 @enpuwinrang ‘ATGCTTGA” ereyib &y euflensani QubmieTearg
erafled ygem Byl Qenwpulen sy cuflens :

(<) TACGRAGT (<) TACGAACT

(&) TCCGAACT (m) TACGTACT

If one strand of the DNA has the sequence ‘ATGCTTGA’, then the sequence of
complementary strand would be :

(a) TACGRAGT (b) TACGAACT
() TCCGAACT (d) TACGTACT

eseu(meuameummieT 6Tl &S STESaTeniow|enL g ?
(1) 2, 4-eyCrrCGor afidenr (@) 2, 4-eL@GGarrGrr 2jafleSan
(@) 2 4-eoLQuwsdled iaflelen (/) 2, 4-enLenpl Gyr el eSer

Which one of the following is most basic ?
(a) 2, 4-dibromo aniline (b) 2, 4-dichloro aniline
(¢) 2, 4-dimethyl aniline (d) 2, 4-dinitro aniline

[ $l(mLliys / Turn over
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10.

Qereupid eflevar oy araseuatay LurgGL BeanGamiLb CamaiuGh ?
MnO; — Mn?*

(1) 7F (<24)5F (@) 3F () 1F

How many Faradays of electricity are required for the following reaction to occur
MnOj, — Mn?* ?

(@) 7F (b) SF (c) 3F (d 1F

SaDm) : p-N.N-aLQwsdér o8 CanirQuensragaman® Gueramudenr
GuEs clomasE o L u@dng.

SMEWILD : <p@man® (-CHO) Qsrgdurang Qi LT SpHnUL@SSID
CgTEHwneib.

(<) SnDmI, STTETILD G\rawm@® b HeL)

() EmpDmy, STrewId Gram@Bn i, Cuoaib srreamd sgapdbarer sflwmer
eSleTésLmELD

(&) smbm), sMrewnd Qran@in &M, sryemd spBpsrear sflurar efNaTésL0oH

(rF) &amm) &M <yeme) sremTd seum)

Assertion : p-N,N-dimethyl aminobenzaldehyde undergoes benzoin
condensation.
Reason : The aldehydic (—CHO) group is meta directing.

(a) Both Assertion and Reason are false,

(b) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.

(c) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

(d) Assertion is true but Reason is false.

wigsariaiue sramrliLihoug) :

(1) Qe Cablliy seer

(<) erf@ummer W6nEe6

(@) ursps ulLer Wer Cadlliy saen
() efsHwbd swedl Wer Calliy swen
Laptops have :

(a) Lead storage battery

(b) Fuelcell

(c) Mercury button cell
(d) Lithium-ion battery
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11.

12.

13.

14.

amanuiGurenpL e wyfledHer eumiiiumg

(<1) HOONO (<35) HN,O4 (@) HNO, (rr) HNO,
Formula for hyponitrous acid :
(a) HOONO (b) H,N,O, (c) HNO, (d) HNO

efldedlwibser QgmELiy wepuded e Qg FFHeny 2(HaursEG 0 ehlenem,
i UR

(=) eredLymen seu uHSL(H elener

(<=4,) S\1 elenen

(&) Sn2 eNener

() ere&Lgren seu Qummear Cardens elanar
Williamson synthesis of preparing dimethyl ether is a/an :
(@) Electrophilic substitution reaction

(b) Syl reaction

(c) Sp?2 reaction

(d) Electrophilic addition reaction

bee Si0E Sl g srariu@D Qeupdlsdler sgeigb :

(1) 26% (<=1,) 48% (@) 23% (rF) 32%
The vacant space in bec lattice unit cell is :
(a) 26% (b) 48% () 23% (d) 32%

om damauile cmaru@Aurmeaiar Aeflaurag siga gauss areile
sfurduns GopausHEd Comeutu@BL &row aaruiBieg) :

(<1) Sioraump ST (=) apad ellevar auens

() ynw dear s () QuawLmb eflener cuens

Time required for the reactant concentration to reach one half of its initial value is
called :

(@) half life period (b) first order

() zero order (d) second order
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15.

280 K Qautiufleneouded, Semmed, i H,50, 2 Lar elemaruL({ flenL_&@GL
waSw eflenar@uim(mer

(<=1) sraldlells 2bleuid (=) 95Ms 2Lled

(@) o-Samed scCurafls fleid (/) p-Sarmed srCureflé SjLblewd

The major product obtained when phenol reacts with Con. H,50, at 280 K is :

(a) Salicylic acid (b)  Picric acid |

()  o-phenol sulphonic acid (d) p-phenol sulphonic acid

LGSl - 11/ PART - 11

&Iy : aCseb o lamésErse ol waléseab. ellem e 24 -&@

sLLmuwons eflenweflésab. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16.

17.

18.

19.

Feneud grem ereueurm sWhEsiuBdmg ?
How is bleaching powder prepared ?

bipsarand saflohismer d-Qsn@d whmb f-OsTES eTar aumsElILBESS.
(i) LmevLer (i) @mSHeflwid

(i) yCrmigdwid (iv)  gemen e @il wid

Classify the following elements into d-block and f-block elements :

(i) Tungsten (i) Ruthenium

(iii) Promethium (iv) Einsteinium

CrCly-6H,0 -eretp epavdsam eumiium’ iy eand Osrar sieeanald Gamosden
gGasaynd @Qran® FCrom wrhHilukismar er(pss.
Write any two hydrate isomers of the complex with the molecular formula CrCly6H,0.

Apwrad Qurdps Csramusellar araraflsms 6 aafld o marEn eamwd
O Frevepd QeupMrfugelan cranafsmamus samrsd(Hs.

If the no. of close packed sphere is 6, calculate the number of Octahedral voids and
Tetrahedral voids generated.
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20.

21.

22,

23.

24.

GOy : gCseud Spm el

anid Sifleokisd wHmb sTrhsd aanprd cratar ? @abauraThib@n @i

T(HSgHEET(H FHMHs.

What are Lewis acids and bases ? Give an example for each.

Qeuamm@emruleh sreaTiu@b Wfes 2 sib whmb 9las Hlowawaw

T(PEIS.
Write the dispersed phase and dispersion medium of butter.

Grreen el @®ss eloanid LwuaL@ssULGBL MaaCas Wi Bl uSl et

Quwenyd GHIAGH e Wpafusseusas aBHSSwbLS.

Name the catalyst used in Rosenmund reduction and state its importance.

@G}mrr(ﬁl;rrnﬁlésrﬂeh ereueurmy swrissLu®Spg ?

How is chloropicrin prepared ?

rgflan C—O—C Wenamiiy Gamanid Bremapd) 1lenemriL Caremnseng el OO

HD. e ?

Why is C—O~—C bond angle in ether slightly greater than the tetrahedral bond

angle ?
L@d - 111/ PART - 111

sL_Lmuions edllenwafléEseay.

Note : Answer any six questions. Question no. 33 is Compulsory.

25.

26.

&Crmewd GGamey® Cergamara eT(RSI%.
Write the Chromyl Chloride Test.

[Sc(H0) " - Hmwppg) - elarsGs:
[Sc(H,0)J** is colourless - Explain.

s5@56@ e wellssab. oflerm eram 33 1G]

6x3=18

[ Hus / Turmn over


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

27

28.

29.

30.

31.

32.

33.

QanarL_fean FLaTUTL L al(heilése, L.

Derive Henderson equation.

e Carsmsdr eraiaurm erdirqpeanar Lrg sy pen oW wwart G52
Sifgsalledmbg urgesrésLUBSng ?

How are metals protected from corrosion by cathodic protection method ?
1Demeu(Hd Fnlplog gisaTaetlan cugeuhismens GHLIHS.

() As,S,

i) Sefln Carad® Fmpw samysd

(i) LieDigd I FlpLD SrEe

Mention the shapes of the following colloidal particles.

()  AsyS;

(i) Blue gold sol

(iii) Tungstic acid sol

urifé Sfleb, Lroeaey srafowu gOsgdns <wamd Afliys Sjiblan
Lreeren syanflen @Bhd@Geudldena. STranTd smmis.

Formic acid reduces Tollens reagent whereas acetic acid does not reduce. Give reason.

UCrmieafler enwlienuls Qurmss ereuaurm auamasliuBSSUILIL (ReTeTar ?
edleT&Es.
How are proteins classified based on their structure ? Explain.

2 awTa|d Fml () Gummlsaflamed @ r@ perenwser gGsea b epeTens
Fo 5.

State any three advantages of food additives.

<ifialwusHelmhg srelub ey, Siwallurggn erangmalq GMmeurans
1058 Gonhs ierGeu TNILGEDE. ger eran ellatées.

There is only a marginal difference in decrease in ionisation enthalpy from Aluminium
to Thallium - Explain why ?
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LGS - IV /PART - IV
GDILY : Semensg cNamssEréED oflamwaésayb. 5x5=25
Note : Answer all the questions.
34. (1) yesgnienowrssad gpenulenear eeufdsaLb.
{6060
(=) ) sy Qsripraspd ﬁa@mgp&;n‘m gCGsad @ran@
Bupgseneansmar 6r(ps)s.
(i) sewanrmg LT 1y dsafld HF - Callés Querg). ger ?
(a) Explain zone refining process.
OR

(b) (i) Write any two conditions for catenation.

(i) Why HF cannot be stored in glass bottles ?

35. (34) () solyren fleob wLHRWL wWITagd WG e AP sam
aumiuur’ yener erpd seuddlen cuigeuabliblanes cuenys.
(i) Spsaremid smeaneys Gaiwsden [UPAC Quwflenar er(pgis.
(A) [Ag(NH,),]* (B) [Co(NH,)sCIJ**
S3|6V608)
(=) () [CoFy]?~ erenm yenamray Cemngdlen smhsLSTL WHMID &THS S(HLIL
Hoemens sasdl([Hs.
(i) < SQriasd Gapur® und @GHiy auars.

(@) (i) Write the molecular formula and draw the structure of sulphurous acid
and Marshall’s acid.

(i)  Write the IUPAC name of the following :
(A) [Ag(NHy),]* (B)  [Co(NH,),CI]2*
OR
(b) (i) Calculate the magnetic moment and magnetic property of [CoF6]3‘
(i) Write a note on Frenkel defect.

[ $lgpliy& / Turn over
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36.

37.

(1) A-eflvar@unaer ereny ppdauans efaardsnar GpresiUBEEIU-L
Geus aOHuQemen auqnedds,

(<) ()

(1)

D106V |
Spseranid Qurmlsaflarn pH whiiemu 6ripsis.
(A)  edlaflsim (B)  s@®rsrl
(C) sewwelarLmr (D) Gamiybir

R Blens L5516 saafle o_erar @)yanr(p) e i Lo W@mmmwmﬁﬁ
@eLuulL girw 1.5 Qe.8. geueuray Wlempenerullen CIEICS
LFuLD 4.5 8688, erema. 0.5 N Wenu@efls senyaayshd 5 lensagonss
vweau®SS saTLBlwiul L WangeL wiiy 15 @S eredfla,
sengsedlanr Bl sLggis e whlieus srans.

(@) Derive integrated rate law for a first order reaction A—product.

®) @

(i)

(<=1) @)

(1)

(<=4) (D)
(ii)

(1)

(b) ()
(1)

OR
Write the pH value of the following substances :
(A) Vinegar (B) Black coffee
(C) Baking soda (D) Soapy water

A conductivity cell has two platinum electrodes separated by a distance of
1.5 cm and the cross sectional area of each electrode is 4.5 sq.cm. Using this
cell, the resistance of 0.5 N electrolytic solution was measured as 15 ohms.
Find the specific conductance of the solution.

Gaudluiymingliy &HEUT Heb LHmw  Qupyplurly
sauig@isdeaL Cuwrer Caumur@saiao oCaabd apadaads sms.
Qruur o e’ L6 (USMETUTESm) cTemmTed erames ?

YNV
Semmellen @enenriiy elevanepw Hms.
Afsenmi® srefleows LwaTLBSE Spssramuaeunamn ereueumn)
swriliumd ?
(A) yrouer-1-2,6 (B)  yruuer-2-2p6
Give any three differences between chemisorption and physisorption.
What is Vulcanization ?

OR

Give the coupling reaction of phenol.
How will you prepare the following by using Grignard reagent ?
(A) propan-1-ol (B) propan-2-ol
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38. (=2) (1) JoumToEllen eTetLg WS ? DS LG Wrg ?
(i) SevarsGaradlys AenewtiiL erammmed eremen ?
3{606VE)
(<) () smbEurs ellemer eranmmmed eratan ? efeTsEs.

(i) Awhmd B -g sar e,

A N“a{gz”ﬂ%@sm » CH;—CH,—NH,

Na(Hg)/C,HsOH
4MH]

(a) (i) Whatis Formalin ? What is its use ?
(i) Whatis glycosidic linkage ?

B

CHg—NH—CH3

OR
(b) (i) What is Gomberg reaction ? Explain.
(i) Identify A and B

A Na(Hg)/GHOH |~y o~y NH
A 3—CHy—NH;

B N"(Hg}fn‘;;”so*‘ ~» CH3—NH-CH;

-000-
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